






















































1.epug;Gf: Annual  Acc Tentative Key- Mar 2017

1. re;ij  gFjp-m 30x1=30 
2. gw;gy fldPe;Njhh;
3. &. 30000
4. epjpj;jpl;lkpLjYf;F
5. ,Ug;Gepiyf; Fwpg;G
6. Gydhfh
7. & 364000
8.; Mz;Lj;njhif Kiw
9. & 25000
10. el;l
11. nghWg;Gfs;
12. epjpjpl;lg; gl;bay;
13. ePh;ikj;jd;ik
14. xU khjk;
15. & 700000
2.rhpahd tpil:
16.(A ) nghWg;G
17.(B) KjypypUe;J
18.(B) ,yhg el;l f/F
19.(B) nkhj;j fldhspfs; f/F
20.(B) & 2710
21.(C) 2:1
22.(C) gzk; kw;Wk; myFfspd; vz;zpf;if
23.(A) elg;Gf; fzf;fpy;
24.(C) %d;W
25.(A) Mjhak;
26.(C) jpahf tpfpjk;
27.(B) & 500
28.(C) & 218000
29.(A) nrhj;J Nja;tiltjhy;
30.(B) FiwAk;. gFjp-M 
VNjDk; gj;J tpdhf;fSf;Ftpilasp:  10x5=50 
31.$bAs;s tUkhdk;: <l;ba tUkhdk; chpa 
fzf;fhz;by; ngwg;glhkypUe;jhy; $bAs;s 
(ngwNtz;ba)tUkhdk;vdg;gLk;.v.fh.ngwNtz;ba tl;b 
32. nuhf;f ngWjy;fs; (5) : 1.nuhf;f tpw;gid>
2.thbf;ifahsh;fsplkpUe;J ngwf;$ba njhif> 3.tl;b
fopT gq;fhjhak; Nghd;w tzpf tuTfs;. 4.nrhj;J
tpw;wJ. 5.gq;Ffs; kw;Wk; fldPl;L gj;jpuk; %yk;
ngwg;gLk; njhif 6. ngw;w fld;
33. xw;iwgjpT Kiw tiutpyf;fzk; : Nfh`;yh;- xw;iw
gjpT Kiw vd;gJ nuhf;fk; kw;Wk; Ms;rhH 
fzf;Ffspd; gjpTfis kl;LNk itj;jpUf;Fk; 
fzf;Fg;gjptpay; KiwahFk;. ,J #o;epiyf;Nfw;wthW 
khwf;$ba vg;nghOJk; KOikngwhj ,ul;ilgjpT 
KiwahFk;. 
34. kWkjpg;gPl;L Kiwapy; Nja;khdk; : ,k; Kiwapy;
tpL fUtpfs; Nghd;w nrhj;Jf;fspd; Mz;L ,Wjp kjpg;G
Mz;L njhlf;f kjpg;NghL xg;gplg;gLfpwJ.
,uz;Lf;FKs;s NtWghL Nja;khdkhf fUjg;gLfpwJ.
35. gq;F xWg;gpog;G: gq;Fjhuh;fs; miog;G njhif
nrYj;j jtWk; NghJ mth;fspd; gq;F xJf;fPl;bid 
uj;J nra;tjhFk;. 
36. cah; ,yhgk;: ruhrhp yhgj;jpw;Fk; rhjhuz 
yhgj;jpw;FkpilNa cs;s NtWghNl cah; yhgk; MFk;. 
,J ew;ngah; fzf;fpl cjTfpwJ. 
37. tpfpjk; : Xh; ,dk; kw;nwhU ,dj;NjhL nfhz;bUf;f
Ntz;ba fzpjtpay; cwNt tpfpjk; MFk;. – nfd;db
kw;Wk; Nkf;kPyd;.
38.rhpfl;L gjpT kw;wk; khw;W gjpT:
Nja;khd  f/F g  25000 

   ,ae;jpu f/F   25000 
(Nja;khdk; ePf;fpaJ Fwpj;J) 

,yhg el;l  f/F   g   25000 

  Nja;khd f/F  25000 
(khw;W gjpT Fwpj;J) 

39.,yhgk; fz;lwpf:   & 
,Wjp Kjy;   180000 
(+)  vLg;G    36000 

 216000 
(-)  $Ljy; Kjy;  10000 

 206000 
(-)  njhlf;f Kjy;  160000 

 ,yhgk;  46000 
40. Nja;khdj;njhif = nrhj;jpd; mlf;f tpiy - ,Wjp kjpg;G

  gadspg;Gfhyk; 
 = 100000– 10000 = &9000 

 10 

Nja;khd tpfpjk;  =  Nja;khdj; njhif  x 100 
 nrhj;jpd; mlf;f tpiy 

= 9000 x 100= 9% 
 100000 

41. epiyr;nrhj;J tpw;gidtpfpjk; =        tpw;gid 
  epiyr;  nrhj;Jf;fs; 

epiyr; nrhj;Jf;fs;  =  epiyr; nrhj;Jf;fs;-Nja;khdk; 
   = 100000-25000      =&.75000 

epiyr;nrhj;J tpw;gidtpfpjk ;   = 300000   = 4 klq;F 
    75000 

42. ruhrhp yhgk;            & 
 2001k; Mz;L  ,yhgk;      12000 
    2002k; Mz;L ,yhgk;  18000 
   2003k; Mz;L  ,yhgk;   16000 

 2004k; Mz;L ,yhgk;  14000 
  60000 

ruhrhp yhgk; = 60000 = &.15000 
 4 

ew;ngaH = ruhrhp yhgk; x nfhs;Kjy; Mz;L 
 = 15000x3          = &.45000 

43.Gjpa yhg gfpHT tpfpjk; 
 rhujh   re;jpah   Nrhgpah 

gioa yhggfpHT =   4  :  3  : 

gioa gq;F  =        4  :  3  : 

 7   7 

Gjpagq;F :  4x   4 :  3 X 4  :  1 x7 
 7  5   7  5  5x 7   

 =16   :  1 2    :   7 

  35      35   35 

Gjpa yhgg; gq;F =16 : 12 : 7 
44.Kidkj;jpy; ntspapl;ljw;fhd gjpT: 
(1000x=120) tq;fp f/F  g 120000 

(1000x=100)        gq;FKjy; f/F   100000 

(1000x=20) gj;jpuKidk f/F  20000 
(Kidkj;jpy; ntspapl;lJ Fwpj;J ) 
45.(m) rhpfl;Lg;gjpTfs; :  5x12=60

ehs;   tptuk;  gw;W  tuT 
thuhf;fld; f/F   g  5000 

 gw;gyfldhspfs;  f/F  5000 
 (thuhf;fld; Nghf;nfOjpaJ Fwpj;J) 
,yhgel;l f/F  g          5000 

   thuhfld; f/F              5000 
(thuhfld; yhg el;l f/F khw;wpaJ Fwpj;J) 
,yhgel;l f/F  g          3000 

 thuhIafld;xJf;F f/F       3000 
    (thuhIafld;xJf;F Fwpj;J) 
,yhgel;l f/F   g          1140 
   fldhspfs; kPjhd js;Sgb f/F  1140 

(fldhspfs; kPjhd js;Sgb xJf;F Fwpj;J)  
31-3-2005 ehSf;Fhpa ,yhg el;lfzf;F
g  t 
thuhf;fld;  5000
Iaf;fld;  3000   8000 
js;Sgb xJf;F   1140 



31-3-2005 f;fhd ,Ug;G epiyf;Fwpg;G
nghWg;Gfs;   nrhj;Jf;fs;  & 

 gw;gyfldhspfs;    65000 
 (-)thuhf;fld;  5000 

 60000 
 (-)Iaf;fld;  3000 

  57000 
 (-)js;Sgb xJf;F 1140 

  55860 
45M)  ,WjpKjy; fzf;fPL: 
jpU.irkd; 2005[d 1k;ehisaepiyawpf;if 

  nghWg;Gfs;   nrhj;Jfs; 
fldPe;Njhh;   100000  nuhf;fk;   20000 

 fldhspfs;  160000 
  KjyPLfs;  40000 

njhlf;f Kjy;200000  miwfyd;  10000 
 ruf;fpUg;G  70000 

 30000  300000 
jpU.irkd; 2005brk;31k;ehisaepiyawpf;if 

 nghWg;Gfs;  nrhj;Jfs; 
fldPe;Njhh;  120000  nuhf;fk;   30000 

 fldhspfs;  190000 
 KjyPLfs;  40000 

,Wjp Kjy;280000  miwfyd;  10000 
 ruf;fpUg;G  130000 

 40000  400000 
 ,yhg el;l mwpf;if : 

,Wjp Kjy;   280000 
$l;Lf:vLg;G    80000 

 360000 
fopf;f:$Ljy; Kjy;  40000 

  320000 
fopf;f:njhlf;fKjy;  200000 

 ,yhgk;  120000 
46. Nja;khdk; : fhh;lh; mth;fspd; $w;Wg;gb
vf;fhuzj;jpdhYk; nrhj;jpd; kjpg;gpy; cz;lhFk; 
gbg;gbahd epiyahd FiwNt MFk;. 
 Nja;khdk; ePf;f Ntz;bajd; Njitfs; : 
(m)rhpahd yhgk; my;yJ el;lk; fz;lwpa :
Xt;nthU fzf;fhz;bYk; rhpahd epfu yhgk; my;yJ 
epfu el;lk; fz;lwpa Nja;khdk; xU nrythf fUjg;gl;L 
tUthapy; rhpnra;ag;gl Ntz;Lk;. 
(M)cz;ikahd epjpepiyia czHj;j :
epiynrhj;Jfspd; cz;ikahd kjpg;gpypUe;J Nja;khdk; 
ePf;fg;gl tpy;iynadpy; ,Ug;G epiyf;Fwpg;gpy; 
nrhj;Jfspd; kjpg;ig mjpfg;gLj;jp fhl;Lk;.mj;jifa 
epiyapy; ,Ug;Gepiyf;Fwpg;g epiyia cz;ikahd 
epjpepiyia czHj;j Ntz;Lnkdpy; mjpy; 
,lk;ngw;Ws;s nrhj;jfspd; cz;ikahd kjpg;gpypUe;J 
Nja;khdk; fopf;fg;gl;L fhl;lg;gl;bUf;f Ntz;Lk;. 
(,)cz;ikahd cw;gj;jp nryit fz;lwpa : 
nghUs;fspd; cz;ikahd cw;gj;jpr; nryit fz;lwpa 
epiyr; nrhj;Jfspd; kPjhd Nja;khdk; tpyf;fg;gl;bUf;f 
Ntz;Lk;. 
(<)rl;lj; Njitfisg; gpd;gw;w :epWkq;fs; rl;lk; 1956 
gphpT 205 (1) d; gb gq;fhjhak; mwptpg;Gf;F Kd;ghf 
epWkq;fs; fl;lakhf epiyr;nrhj;Jfspd; kPjhd 
Nja;khdk; tpyf;fp ,Uj;jy; Ntz;Lk;. 
(c)gioaepiyr; nrhj;JfSf;F gjpyhf Gjpa epiyr;
nrhj;Jfis ,lk;ngwr; nra;a :
gioa epiyr; nrhj;Jfis gad;gLj;j Kbahj epiy
Vw;gLifapy; Gjpa epiyr; nrhj;Jfis ,lk;ngwr;
nra;a Nja;khdk; ePf;Fjy; mtrpak;.
47.jpl;lgl;bay; jd;ikfs;: 1.jpl;lg;gl;bay; vjph;fhyk;
Fwpj;J Kd;dNu jahhpf;ff; $bait MFk;. 2.,J gzk;
my;yJ myFfspd; vz;zpf;if mbg;gilapy; 
njhptf;ff;$bait MFk;. 3.,J jpl;l ,yf;if 
miltjw;fhd top 

jpl;lg;gl;bay; ed;ikfs;: (1)NghJkhd nuhf;f ,Ug;ig 
Ngz cjTfpwJ.(2),J Nkyhz;ikf;F gadspf;Fk; 
tifapy; nra;jpfis mspf;fpwJ. (3)epjpj; Njitia 
G+Hj;jp nra;Ak;jpl;lk; jPl;l (4)nuhf;f ,Ug;ig fl;Lg;gLj;j 
cjTfpwJ 
48.epiy Kjy; Kiw khWgLk; Kjy; Kiw 
1.Kjy; njhif vg;NghJk; 
epiyahf ,Uf;Fk; 
2.Kjy; fzf;F> elg;G 
fzf;F vd ,U fzf;Ffs; 
cz;L 
3.vy;yhrhpfl;Ljy;fSk; elg;G 
fzf;Ffspy; gjpag;gLk; 
4.elg;G fzf;f gw;W 
,Ug;igAk; tutpUg;igAk; 
fhl;Lk; 

1. Kjy; njhif
Mz;Lf;fhz;L khWgLk;
2.Kjy; fzf;F kl;LNk
cz;L.

3.vy;yhrhpfl;Ljy;fSk; 
Kjy; fzf;Ffspy; 
gjpag;gLk; 
4.Kjy; fzf;F vg;NghJk; 
tutpUg;igNa fhl;Lk; 

49.Nkhfd; jahhpg;G epWtd VLfspy; 
g.   ,ae;jpu f/F   t. 
ehs;  tptuk;  njhif ehs; tptuk;  njhif 
1-4-10 tq;fpf/F    200000  31-3-11Nja;khdf/F  20000 

 ,Ug;G fP/,  180000 
 200000                 200000 

1-4-11 ,Ug;G fP/nfh 180000 31-3-12Nja;khdf/F   20000 
 ,Ug;G fP/,  160000 

 180000  180000 
1-4-12 ,Ug;G fP/nfh 160000 31-3-13Nja;khd f/F  20000

 tq;fp f/F  120000 
 ,/e(el;lk;)f/F  20000 

 160000  160000 
 Nja;khd fF 

31-3-11 ,ae;jpu f/F  20000  31-3-11 yhgel;lf/F 20000
 20000  20000 

31-3-12 ,ae;jpu f/F  20000  31-3-12 yhgel;lf/F 20000
 20000  20000 

31-3-13 ,ae;jpu f/F 20000 31-3-13 yhgel;lf/F 20000
  20000   20000 

50 nkhj;j yhgtpfpjk; = nkhj;j yhgk; x 100 
 tpw;gid 

 nkhj;j yhgk;= 50000 x 100    = 25% 
 200000 

  epfu yhg tpfpjk;  = epfu yhgk; x 100 
 tpw;gid 

 = 32000 x 100 = 16% 
 200000 

,af;f ,yhg tpfpjk; 
=epfu,yhgk;+,.;rhh;gw;wnryTfs;- ,.rhh;gw;wtUtha; x100 

 tpw;gid 
=32000+1600-800 x 100  =  32800 x 100 = 16.4%       

 200000           200000
  (my;yJ) 

,af;f ,yhg tpfpjk;  
=nkhj;j ,yhgk;-,af;fr;nryTfs; x100 

   tpw;gid 
 = 50000-eph;thfr;nryT- tpw;gid nryTfs; 

 Tpw;gid 
 = 50000-1000-3000= 46000  = 23% 

200000 
51. ,yhg el;l gfpHT fzf;F
ehs;  tptuk;  njhif ehs; tptuk;  njhif 
Kjy;kPJtl;b Nr3600  epfuyhgk; fPnfh  12000 

  gy;1200  4800 vLg;GkPJtl;bNr100 
Cjpak; gy;ytd;     3000          gy; 50   150 
,yhgk; Kjy; 
fzf;fpw;Fkhw;wg;gLtJ 

     Nrud; 2175 
 gy;ytd;2175         4350  . 

 12150  12150 



Kjy; fzf;F 
 Nrud;  gy;ytd;    Nrud;  gy;ytd; 

vLg;G  2000  1000 ,Ug;GfPnfh  60000  20000 
vLg;GkPJtl;b   100   50 Kjy;kPJtl;b 3600   1200 
,Ug;G fP,  63675 25325 Cjpak;  ---  3000 

 ,yhgghq;F  2175  2175 
 ---------------------------  ------------------------ 
 65775  26375  65775  26375 

52.nry;tk; tiuaW epWkk; Fwpg;NgL : 
 (1000X10) g.Kjy;f/F g. 10000 
 (1000 X7)    g.xWg;gpog;G f/F  7000 
 (1000 X3)    gq;F ,Wjpmiog;G f/F   3000 
 (xWg;gpog;G nra;ag;gl;lJ Fwpj;J) 
 (800 X8) tq;fp f/F  g.  6400 
 (800 X2) gq;FxWg;gpog;Gf/F g. 1600  

   g.Kjy;f/F     8000 
  (kWntspaPL nra;ag;ggl;lJ Fwpj;J) 
  gq;FxWg;gpog;G f/F g    4000 

   Kjypd fhg;G  f/F       4000 
  (kWntspaPL ,yhgk; Kjypd fhg;Gf;F khw;wpaJ) 

 gq;F xWg;gpog;G f/F 
gq;FKjy;    1600  gq;FKjy;  7000 
Kjypdfhg;G  4000 
,Ug;GfP,     1400  ----------- 

 7000  7000 
   Kjypd fhg;G f/F 

,Ug;G fP/,  4000  gq;FxWg;gpog;G 4000 
 4000  4000 

gFjp - <  3x20=60 
53.m) 31.3.06. ehisa epiyawpf;if 
nghWg;Gfs;   nrhj;Jfs; 
fldPe;NjhH     37500   miwfyd;;  2500 
njhlf;fKjy;  58750 nuhf;fk;   6250 

 fldhspfs;  62500 
 ruf;fpUg;G   25000 

 96250  96250 
 nkhj;j fldhspfs; fzf;F 

,Ug;GfP/nfh   62500   ngw;wnuhf;fk;  135000 
 mspj;jjs;Sgb  2500 

fld; tpw;gid 166250  tpw;gidj;jpUg;gk;  3750 
 ,Ug;G fP/,  87500     

 228750       228750 
nkhj;j fldPe;NjhH fzf;F 

nrYj;jpa nuhf;fk;  112500   ,Ug;GfP/nfh  37500 
ngw;wjs;Sgb  3750 
nfhs;Kjy;jpUg;gk;   1250 
,Ug;G fP/,    43750  fld; nfhs;Kjy; 123750 

  161250                161250 
tpahghu ,yhg el;l fzf;F 

njhlf;fr; ruf;fpUg;G  250000 tpw;gid166250 
nfhs;Kjy;   123750 

 (-) tp.jpU  3750 162500 
nfhs;Kjy;jpUg;gk;1250 122500  ,Wjpruf;fpUg;G  12500 
nkhj;jyhgk; fP/,     27500 

 175000  175000 
gy;tif nryTfs;  8750  nkhj;jyhgk;fPnfh  27500 
mspj;js;Sgb   2500  ngw;wjs;Sgb  3750 
miw Nja;khdk;    125 
epfuyhgk;   19875  

 31250                 31250 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;  nrhj;Jfs; 
Kjy;    58750   nuhf;fk;   10000 
(+)epfuyhgk19875  fldhspfs;  87500 
(-)vLg;Gfs; 10000 68625    miwfyd;(-) Nj  2375 
fldPe;NjhH  43750  ,Wjpruf;fpUg;G 12500 

 112375  112375 

53.M) g   kWkjpg;gPL fzf;F  t 
fl;blk;    20000  fldPe;Njhh;  30000 
kWkjpg;gPl;Lyhgk; 
A  6000 
B           ; 4000;  10000 

 30000  30000 

Kjy; fF 
 A B             C               A            B             C 

 ,Ug;GfPnfh300000 225000  150000 
 kWkjpg;gPL 6000  4000   ---- 

     ew;ngaHfF 12000 8000    --- 
 nghJfhg;G  27000 18000  ----- 

,.fP./, 345000 255000 150000   
    345000  255000 150000      345000  255000 150000 

,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;   nrhj;Jfs; 
fldPe;NjhH120000  nuhf;fk;(15000+150000)  165000 
(-) Nghf;F 30000  90000 ruf;fpUg;G  30000 
nr.kh.rP.   75000  fldhspfs;  150000 
fld;fs;  135000 
Kjy; f/F  ew;ngah;80000+20000  100000 
A  345000  ,ae;jpuk;   75000 
B  255000      fl;blk; (450000-20000)  430000 
C 150000  750000  KjyPLfs;    100000 

 1050000   1050000 
54.jpU.fz;kzpapd; 31.03.2004 ehNshL 
KbtilAk;Mz;bw;Fhpa tpahghuyhgel;l f/F 
njhlf;fr; ruf;fpUg;G  120000  tpw;gid      750000 
nfhs;Kjy;   500000  ,Wjpruf;fpUg;G 140000 
cs; J}f;F $yp   5000 
vhpnghUs; thA   37000 

nkhj;jyhgk;fP.,  228000 
  890000    890000 

rk;gsk; 110000   nkhj;jyhgk;fPnfh 228000 
(-) K$nr10000     100000   gq;fhjak;   28000 
thlifAk; thpAk;  21000   ngw;w fopT6000 
thuhf;fld;    2000 (-)  K$ng  1000   5000 
tpsk;guk;   16000 
fl;blk; kPJ Nja;  40000 
Kjy;kPJtl;b   75000 
epfu yhgk; fP/,   7000 

 261000  261000 
jpU. jpU.fz;kzpapd;; 31.03.2014 ehNshL KbtilAk; 
,Ug;Gepiyf;Fwpg;G 
    nghWg;Gfs;  nrhj;Jfs; 
fldPe;NjhH      120000   nuhf;fk;   40000 
Kjy;     750000  fl;blk;400000 
Kjy;kPJtl;b75000  (-) Nj  40000  360000 

  825000   ,ae;jpuk;  120000 
(-)vLg;Gfs;  40000   fldhspfs;  250000 

 785000  ng.kh.rP.   53000 
(+)epfuyhgk; 7000 792000  ,Wjpr;ruf;fpUg;G    140000 
fld;            60000 Kd;$l;banrrk;gsk;   10000 
Kd;$l;bngw;wfopT  1000 

 973000   973000 
55. elg;G tpfpjk; = elg;G nrhj;Jfs;

  elg;GnghWg;Gfs; 
 = ruf;fpUg;G+ fldhsp+ngkhrP+nuhf;fk; 

   fldPe;Njhh;+tNkg 
=    15000+30000+10000+5000    

 25000+5000 
 =  60000 =   2:1 

 30000 



ePh;ik tpfpjk; = ePh;ikr; nrhj;J 
  elg;GnghWg;Gfs; 

ePHikr;nrhj;J = elg;Gnrhj;Jfs;-ruf;fpug;G- 
 = 60000-15000 

=45000 
=45000   =1.5:1 

30000        

Gwmf nghWg;Gfs;tpfpjk; = nkhj;jepz;lfhyf;fld; 
  gq;Fjhuh; epjp 

 = fld;fs;  
   gq;FKjy; + fhg;Gfs; 
 = 37500       =0.5:1 
 70000+5000 

 chpikahsh; tpfpjk;      = gq;Fjhuh; epjp 
 nkhj;j GydhFk; nrhj;Jf;fs; 

 = 75000;  
 epiynrh. +ru+ fldhsp+ngkrP+nuhf;fk; 

 =75000  = 
 65000+15000+30000+10000+5000 
 = 75000 =       0.6:1 

125000 
56.2005 khh;r; Vg;uy; Nk khj  nuhf;fjpl;lg;gl;bay; 
tptuk;  khh;r;   Vg;uy;  Nk 
njhlf;f nuhf;fapUg;G  8000  38000  69500 
(+)nuhf;f ngWjy;fs;  
fld; tpw;gid   82000   84000  78000 
nkhj;jnuhf;fngWjy;fs;   90000  122000  147500 
(-)nuhf;fnrYj;Jjy;fs; 
ruf;fspj;NjhUf;Fmspj;jJ  36000  38000  33000 
$yp  10000  8500  9500 
Gy;tif nryTfs;   4500  3500   4000 
mYtyf nryTfs;  1500  2500  2000 
nkhj;jnuhf;fnrYj;Jjy;fs; 52000  52500   48500 
,Wjpnuhf;f,Ug;G   38000  69500   99000 

57) R+rd; fpNu]; tiuaW epWkj;jpd; VLfspy;
Fwpg;Ngl;Lg;gjpTfs;
ehs;  tptuk;  gw;W&  tuT & 
tq;fp f/F  g  500000 

  gq;Ftpz;zg;g fF   500000 
  (tpz;zg;gg;gzk; ngwg;gl;lJ) 

gq;Ftpz;zg;g f/F   g       500000 
   gq;FKjy;f/F                 500000 

(tpz;zg;gj;njhif Kjy;fzf;fpw;F khw;wg;gl;lJ) 

gq;F xJf;fPL f/F  g  900000 

   gq;F Kjy; f/F  500000 
   gj;jpuKidk f/F  400000 
(gq;FfSf;F xJf;PL gzk;  
kw;Wk; gq;F Kidk njhif ngwNtz;baJ ) 

tq;fp f/F   g              900000 
    gq;f xJf;fPL f/F    900000 
(xJf;PL gzk; kw;Wk; gq;F 

  Kidk njhif ngw;wJ Fwpj;J) 
gq;FKjy; miog;Gf/g        500000 

   gq;FKjy; f/F    500000 
(Kjy;miog;G njhif ngwNtz;baJ) 
tq;fp f/F   g             500000 

 gq;FKjy; miog;G f/F    500000 
 (Kjy; miog;G njhif ngwg;gl;lJ) 

gq;F,Wjpmiog;gf/F  g  500000 

   gq;FKjy;f/F    500000 
(,Wjp  miog;G njhif ngwNtz;baJ) 
tq;fpf/F       g       500000 

   gq;F,Wjpmiog;g f/F    500000 
(,Wjp  miog;G njhif ngw;wJ) 

tq;fp fzf;F 
g.tpz;zg;g f/F 500000  ,Ug;GfP/,  2400000 
g.xJf;fPL f/F  900000   
g.Kjy;miog;Gf/F500000 
g.,Wjpmiog;G f/F500000 

 ------------   ------------- 
 2400000  2400000 
 ------------  -------------- 

 gq;F Kjy; f/F 
 ,Ug;GfP/,  2000000 g.tpz;zg;g f/F  500000 

 g.xJf;fPL f/F  500000 
 g.Kjy;miog;G f/F 500000 
 g.,Wjpmiog;G f/F 500000 

 --------------  ------------ 
 2000000  2000000 
 gj;jpu Kidk f/F 

,Ug;GfP,  400000 g.xJf;fPL f/F  400000 
  ---------  ---------- 
 400000  400000 
  ---------  ---------- 

,Ug;Gepiyf;Fwpg;G 
  nghWg;Gfs;          nrhj;Jfs; 

nrYj;jg;gl;lKjy;f/F2000000 tq;fpf/F   2400000 
gj;jpuKidkk;f/F    400000 

 -------------  ---------------- 
 2400000  2400000 
 ---------------  ------------- 


